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Algebra-

Graphing Review

For #1-3 (a) Name the type of equation that is given (linear, quadratic, or exponential).
(b) Determine the y-intercept of the equation.
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For #4, match the graph with the given equation.
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For 6 — 8, give the needed information. If necessary, round answers to the nearest tenth.
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Choose one. Opens up or opens down

The value for a, b, and ¢

The equation for the axis of symmetry
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. The y-intercept

The coordinates of the vertex

Choose one. Vertex is a minimum or maximum.
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Choose one. Vertex is a minimum or maximum.
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For #8 — 10, graph the foliowing equations. Fill in the chart for each.
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For 11-12, Solve each system by graphing. Write the solution on the line below each graph.
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For #’s 13-14: Solve each system of inequalities by graphing.
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15. You want to spend at least $40 but no more than $100 on school clothes for yourself. T-shirts sell for $10 and
pants sell for $20. How many T-shirts and pants combinations could you buy? 7

a. Define variables for the situation.
' I..ﬁ"" % ® # of Aty gl

Led § = # o#¥ Pa.rﬂ-’.l

b.  Write a system of linear inequalities to represent the data.
10X + 204 24D —=—> (0, 2) (4 0)

\\)xa-wj‘:loo > (v,8) (w0
c. Graph your systems (make sure to label each axis, write in your scale and clearly define your regions).

Y "r'“.*“{".“ f!
N
i N S R R !
| | | ' | :
4 St R iy S REEE SRR R
I AN R !
¥ R GLE ot B o SRR SRR S
I A B !
3

1 1 1 1
- N R !
+ b F=r Ty ="=§y===~~"fgr-——=fF=-==1
c ° A B A B | :
i« e
1 [} 1 1 1 1
1 1 1 ) 1 1
[ T [ i S Jpy Ny N | AU |
T s TR i
3 Y S b M e taROEY BN
¥ Ll :
9
Si |1 !
] SgLr---r---1
5 1 1

|3‘!'~€5#8"Ilnu

d. Give two possible solutions for the system.
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